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QUESTION 1

Which interface is used exclusively to forward Ethernet-switching traffic between two chassis cluster nodes?
A. swfabO

B. fxp0

C. fab0

D. me0

Correct Answer: A

QUESTION 2
Click to the Exhibit button.

Referring to the exhibit, which two statements are true? (Choose two.)

[edit]
user@host# show security zones security zones security-zone
trust
host—inbound-traffic {
system-services {

all;
}
}
interfaces |
ge-0/0/0.0;
ge-0/0/1.0 {
host-inbound-traffic {
system-services
ssh;
!
}
b
}

A. Interface ge-0/0/0 will not accept SSH connections.

B. Interfaces ge-0/0/0.0 and ge-0/0/1.0 will allow SSH connections.
C. Interface ge-0/0/0.0 will respond to pings.

D. Interface ge-0/0/1.0 will respond to pings.

Correct Answer: BD
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QUESTION 3

You are asked to support source NAT for an application that requires that its original source port not be changed.
Which configuration would satisfy the requirement?

A. Configure a source NAT rule that references an IP address pool with interface proxy ARP enabled.

B. Configure the egress interface to source NAT fixed-port status.

C. Configure a source NAT rule that references an IP address pool with the port no-translation parameter enabled.
D. Configure a source NAT rule that sets the egress interface to the overload status.

Correct Answer: C

QUESTION 4

Click the Exhibit button.
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{pnmarymode0} [edit]
user@host® show chassis cluster
reth-count 2;

control-ports {

fipc 0 port 0;

fpc 3 port 0;

}

redundancy-group 0 {
node 0 prionity 200;
node 1 priority 100;

redundancy-group 1 {
node 0 prierity 200;
node 1 priority 100;
ip-monitoring {
global-weight 150:
global-threshold 240;
retry-interval 3;
retry-count 10;
family {
met {
172.16.1.100 {
weight 150;
interface reth0.0 secondary-ip-address 10.1.1.1;
}
}
}
H
} - -
{primarynode0} [edit]
userZhost® show interfaces
xe-10/0 {
gigether-options {
redundant-parent reth(;
¥
}
xe-4/0/0 {
gigether-options {
redundant.parent reth0;
¥
}
fab0 {
fabric-options {
member-interfaces {
xe-1/1/10;

¥
}
¥
fabl {

fabric-options {
member-interfaces {
xe-4/1/10;

Rt et et

eth0 {
umit 0 {
family inet {
address 10.1.1.1/24;

=1

Sttt bt
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Which statement would explain why the IP-monitoring feature is functioning incorrectly?
A. The global weight value is too large for the configured global threshold.

B. The secondary IP address should be on a different subnet than the reth IP address.
C. The secondary IP address is the same as the reth IP address.

D. The monitored IP address is not on the same subnet as the reth IP address.

Correct Answer: C

QUESTION 5

Click the Exhibit button.

[edit]
userfhosc$ show securicy address-book
glohal

dddress dmz-net 1592.1&B.150.2/24;

addreas dns-svra |

range-address 192.168.130.100 |
to |
182.168.150.115;

}
|
address client-net 172.16.123.0/24;

}

[edit security policies from-zone trust to—-zone dmz]

userhosc# show

policy pl |

match |

source—address client-n=t;
destination-address dns-svrs:
destination-address—-excluded:
application [ junos-http junos-https ]:

}
then [
PETMmit;
}
}
policy p2 |
match |
aource—-address any;
destination-address any;
gpplication any:
1
then {
Fermit;
}
}
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Referring to the exhibit, what will happen if client 172.16.128.50 tries to connect to destination
192.168.150.111 using HTTP?

A. The client will be denied by policy p2.

B. The client will be denied by policy p1.

C. The client will be permitted by policy p2.

D. The client will be permitted by policy p1.

Correct Answer: D
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